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10,000 x120H »10& 12,000
ORolglol MATT HY 7L
15,000& =150 2,250
OLQAAXE ZHI =4 7,000& %100 700
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401 AIEHI L 2 CHYI 83,000 103,000 A20,000




FN: SRS ALL
B Lo=NEN(MEEX /0 - BAE)
Ehelr Lo sXXNR (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& bl 83,000 103,000 220,000
OANgadzd B+ 70,000,000& =14 70,000
OYstS sistH2e B4 13,000,000 *14! 13,000
402 RI2EX20| A 155,000 110,000 45,000
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< 40,000
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= 20,000
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O2B8232Y E3AM 40,000,000& =14 40,000
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Al 20,000
d2Y2IXNA(BX) 408,728 396,860 11,868
< 42,560
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301 L2 A= 408,728 396,860 11,868
< 42,560
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01 MI2ZE 6= 408,728 396,860 11,868
OZ2E2d N& 408,728,000 408,728
< 42,560
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)= 350,0002! + 122 4,200
£ 7 5,0002 x8% * 122 480
& 2 2EHS 1,900 0 1,900
405 THAHH St 1,900 0 1,900
IR EEEEE 1,900 0 1,900
OIEITE ] 700,000 *1CH 700
OO0IEMHIY 250,0002 * 1} 250
O M KIS 700,000 *1CH 700
OLIETE= 3PN 250,0002 * 1} 250
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N = 0 &8 AFH Y & A AN
20158 & 20l& LB H SR XNXNBH YL ~ SPASKE
2M: EFHMI L
M XYMA9 AN st (dutza™ /XYY - THEX )

ool M2y 2 2R (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SN 812,692 765,467 47,225
XYM N stE (ot /NS - THAE X 717,529 672,238 45,291

2)
ME2g Y fiozel 378,208 356,780 21,428
NEHE 29 93,943 89,967 3,976
201 et A b 70,344 69,584 760
01 AFR22t2ldl 47,500 46,500 1,000
O1.dBtx=2H| 47,500
-NEAE 2EIE Lot
10,000,000& 10,000
~NEITDEH ARE 7Y 12,000,000& 12,000
-IAMEEE HOMEEH EH 2Y 24,000
=3 400,000& x13CH*33] 15,600
=g 400,000& *7CH *33] 8,400
PN (R R=SEgel! 1,500
IH SHS(BEE,7IHSH)
100,000 *1E5+15A 1,500
02 35249t 22,844 23,084 A 240
O1.33222HMA 2,324
-EHEXPC SAUAIE = 48,4003 *4H x12& 2,324
O3. A8 & HI K X bl 20,520
& A& D17 K] 1,000,000& *x12& 12,000
-NEITeIH KA 380,000& x12& 4,560
-0l 0l KIAl A E X 330,000& = 12& 3,960
202 04| 5,400 3,600 1,800
01 2LH O HI 5,400 3,600 1,800
OMEBAES & XM s 4 oYl
60,0003 * 10«32«33 5,400
301 dEtE A= 18,199 16,783 1,416
0B M ERLIEA= 18,199 16,783 1,416
OMIIERRA 18,199
=23 149,000& x4 128 7,152
-S4l H| 7,000& x4H x222 x12& 7,392
- EH| 2,400& x4 %222 x12& 2,535
=1l 140,000& x4 »23| 1,120
XA 2n2el 284,265 266,813 17,452
101 @121l 11,947 11,155 792
04 JI2ZtH 22 XNEE S 11,947 11,155 792
ObltMl 23 L S=EHFAN 2SN A
Arled ol A Y| 44,6403 »4H x60 10,714
O42g 1222 10,714,000& *11.5% 1,233
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SN =ERMRD
o YASO SN HE(AUTIYZ/NYBY - HIN)
S MEEY 2 2R CERED

A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 261,158 242,298 18,860
01 AtR 2t 2l Hl 69,768 69,768 0

O1.et=2H] 61,200
-EJI2 OXNM M 37,500
SSHoA 602 »25,0000H 1,500
F2A 602 120, 0000H 7,200
XS XA 60 100, 0000H 23! 12,000
CTHAAN(FE . AEE) 602 130, 0000H 7,800
T MANI(EX) 602 *150,0000H 9,000
-H3II2 ONAM 28 € S 15,300
F2lAl 30 %100,000A 3,000
A= XAl 30& %100,00024 »23| 6,000
HAA(FE, A=E) 30 %100,000A 3,000
AN (E ) 30& 110,000 3,300
A& DM 2 8,400
FHEA 70,0003 58t A %123 4,200
TFUALASIM, SEHSAM L A E S A
70,000 x5 A 123 4,200
05.3 | 8,568
CH YREA OL22T 24
7,000 7 *10L x12& 5,880
AH LRER OFL22T 24
7,0003 48 8L 123 2,688
02 S3=29Hl 191,390 172,530 18,860
O1.33a=2HA 191,390
-HAMES R2EE 191,390
TEAE DM gE RER(SI])
1,930 5002 123 11,580
SSEHGA 300& %20,000A 6,000
T RS IEA (e 300& *80,00024 »23| 48,000
© LHSIAM(SI1) 1,930& *5,00024 9,650
F2Al 300& %110,000A 33,000
© THARAN (B 300& %200,000A 60,000
TH&EAN(S 1) 1,930& x12,000A4 23,160
202 O Hl 11,160 11,160 0
01 SLHOHI 11,160 11,160 0
OZNEE WANE AN
60,0008 x7H *3 »63] 7,560
OANNEE WAXNE =AOH
60,000 x4 *3 x53] 3,600
Mg & da2el 188,100 171,962 16,138
Mg 2 MEA &= 188,100 171,962 16,138
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2N

STHS

ni;

M JPMH=2 N SZ(USISHIY/ANLHY - HEXE)
Sl MY o ISR CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MIIEELES 2,000 2,000 0
2 THAHAI D) BIZHOIT Al
1,000,000& x40 *5/100 2,000
303 Z& 3 28,000 28,000 0
01 243 28,000 28,000 0
OXNZANES E=EEIE HEAMNME=ZLS 28,000
-3 20,000
©3d0ly Fu 200,000,000 *5/100 10,000
280l F 200,000,000% *3/100 6,000
1E@o0la 31 400,000, 000% *1/100 4,000
-5 5,000
© 380l F 50,000,000& *5/100 2,500
29 0l& Bt 50,000,000 *3/100 1,500
18014 3 100,000,000& *1/100 1,000
A=Y HEME
30,000,000% 10/100 3,000
405 RHoHE S HI 15,000 0 15,000
01 AL EZFHSHI 15,000 0 15,000
OXNSETHE HSE OlAl ChX Y|
15,000,000& = 1CH 15,000
geld¥e nE2d 151,221 143,496 7,725
Feh M E 151,221 143,496 7,725
101 14 Hl 35,838 33,462 2,376
04 JIZHHZ2XRHEES 35,838 33,462 2,376
OMNEZ=EIAITAI HRE X 21|
44,6403 «18H «80 L +50% 32,141
C4liEd JI2RES 32,141,000& *11.5% 3,697
201 Yot Y| 109,983 104,634 5,349
01 At 22l 109,983 104,634 5,349
O1.28==&H| 104,761
—HEFEDMALAE deb=ZH 2,700,000 2,700
HEFEIIANME & HAESsxE 81,821
HEFEIA BS+==+=2
50,8203 *12%*23,0002 *50% 70,132
FLUHS =8 11,689
* 2 ANE 50,820& *50%*30%*200 4 1,525
* 0l &1 E 50,820& *50%*200 A 5,082
*HAHEY 50,820& *50%*200 A 5,082
—HEFEDNE SEMA 18,000
* EIIZAL 6,000&*1,200= & *2& 14,400
C = A AL 6,000& +300= & +2& 3,600
SHgE eI EEENE(2E 8HE) 2,240
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2N ST

FH: NN AN HF (LSS /NLHE - HWIXA)
ool BelEol BELY (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Se9 50,0003 16K A *23] 1,600
ToY2tE 20,0003 *16JH A +23| 640
05.2 2l 5,202
~FEUSHIA U DARNE L2FT 0F22
S =4 7,000 x5H 8L« 12 3,360
SFEDIANTE SU BSHY OIA22R 3
Al 7,000 «7% 192 23| 1,862
202 oddl 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
OFEEL XA & WAXE ZAGH
60,0003 x5 32 63 5,400
HHER2LAZH (SN2 (IIEH/IIE) 95,163 93,229 1,934
AHSIHI(EF M) 23,369 21,768 1,601
fAHeE2A| 23,369 21,768 1,601
101 144 Hl 23,369 21,768 1,601
03 RIAHAZ 22+ 23,369 21,768 1,601
OXNgHM g2 X 2 BMXE F2l 23,369
-Jles 40,4203 «1H 261 10,550
-4 03 10,550,000 * 12 *1/12%400% 3,517
-2 2 F Ol 10,550,000 * 1 % 1/12%120% 1,085
b EsE 60,0003 1H 128 720
RGPS 49,5683 1 18 893
=5 40,4203 1«52 2,102
- M ZG Al 130,000& x1H 122 1,560
-2Z2sg 10,550,000 * 1 »1/12x30%*23! 528
S ) PN = 40,4203 *32 « 12 +50% 728
“ANZt 225
6, 1963 x1H x10Al 2+ x150%* 122 1,116
-wE 22| 50,0003 <1 «12& 600
IIE2ZHI(2D MPDH) 71,794 71,461 333
M2 7,594 7,261 333
201 Let24d] 7,594 7,261 333
01 AtR 22l | 7,594 7,261 333
ORNE2Y Yetss) 4,120,0008! 4,120
ORA2Y =€l 1,890,000 1,890
O=A2| Xtz 132,000& x1CH 128 1,584
e N 60,000 60,000 0
202 Oddl 60,000 60,000 0
01 =S LHA YI 60,000 60,000 0
OFYSFTHHI 20,0003 x25H x 10 x 12 60,000
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2N ST
HH: HH2ILH(SZHNSY)(IIEH/IIE)
€@l JI2ZH(SF AR

_ ) ~ 4
A EB B (BH) - NRAY - BHES 0l & o8 e
pp— 4,200 4,200
203 Y2 =X H| 4,200 4,200
04 2AMEIYRET| 4,200 4,200
ORNSIYLEAY (H2:27Y)

350,000& =128 4,200
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20158 S0la L SIAXNSF L ~

A

SH: SR4AD
HY: f4S2Y U NABMBLS(SYHSLa/HS 2 )
S HASE 2Y U AM AN FY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SFAS D 12,378,333 10,986,099 1,392,234
2 1,263, 145
X 1,912,488
J| 18,946
< 867,764
Al 8,315,990
S22 L NAZHMELS} (S o L=L/o L4t 512,672 401,425 111,247
S0 =)
< 39,463
Al 473,209
==& 23 ¢ A& & 54 512,672 401,425 111,247
< 39,463
Al 473,209
=222 & MM XA 380,998 323,937 57,061
101 @124 dl 86,626 83,533 3,093
4 D12t ZE2XREES 86,626 83,533 3,093
OHIGEHAR2E 2tSAF A E el
53,5503 * 1«51 44 & 10,925
OttttEA4 429 2tSAF iAol oAy (X))
HE) 53,5503 * 1 *34 L 24 & 3,642
C4liE" JI2RES 14,567,000 *11.5% 1,676
Odl==SZ SHALE 2te| el2dH]
44,6403 10 61 27,231
C4liE" JIA2RES 27,231,000 *11.5% 3,132
Odi==& JI2M2 2 LI=H| 1,220
=AM R I = 1,020
T a2R= 50,000 *3H »40H & 600
2 X 5,000 «3H »40H & 60
C 233 30,000 *3H #44 &~ 360
2SS A WMZ2RXA O =l
50,0002 1 »40H & 200
Ooi==Z HoAg22 (oY Xte &F) 38,800
-4 H| 200,000& x20H 9= 36,000
-2 & 203l 140,000 »20H 2,800
201 Let24d] 187,452 191,884 A4, 432
01 At 22/l 104,308 110, 148 A5,840
O1.det==2H| 14,300
“GHMEHREA det=ZH 2,700,000 2,700
“HEI FHIAAME JEIN(F . E2S) A
2/ 4 50,000 *20HK 1,000
-2 FaX HA 400,000 «70H & +23] 5,600
-l =S E2F HUE WA 500,000 404 A 2,000
-l =22 JlE =Sl 3,000,000& 3,000
O4.101 54l 8,000
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SN 24D
HE: H4SH2Y U NABMSBLS(STHS M /HL2L - OfF)
SR WS 2Y U AW 4K 84 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-2 2T S0 dot=E A
=1} 39,000
YA, EEHLSH
500,000& =128 301 & 18,000
X stioi+==2H
350,000& =128 «501 A& 21,000
O2.¢ =l 10,944
- AYIAEN RRU(RLR)
1,800 %204 =61 400 2 8,784
-2 AEIAZTH(ZININE) RFU(FE
2) 1,8009 %202 %302 2JH 4 2,160
O3. Al & ZHI R X I 20,000
“HASH 2E HANE RNBL
5,000,000& *40H 2~ 20,000
202 O4dl 4,320 4,320 0
01 = LH 4 Hi 4,320 4,320 0
Odi==&d =N
60,0003 *4H 32 63| 4,320
206 M= Hl 58,800 8,200 50,600
01 M= 4l 58,800 8,200 50,600
Otffl==2 WAtE 22l XM(ppZEl 8) 7
4003 3, 00000 «4 4 2 4,800
O=ZetdEEHE 2 400,000 » 18K E *404 & 28,800
OdlHetdEHE 22 350,000 » 18K E *404 & 25,200
301 g2 4= 2,000 2,000 0
09 EAAHIE &S 2,000 2,000 0
OHEHM H=27g 24 500,000& *4H £ 2,000
401 A& HIZ 201 Y] 34,000 34,000 0
01 A& HI 34,000 34,000 0
OMLSE ASALS T U P&
3,500,000 *404 A 14,000
OM+SH +AAHM (SMNFST Ta) &
A B 5,000,000 *40H 2~ 20,000
405 XHoHF S HI 7,800 0 7,800
01 AL EZFH S 7,800 0 7,800
Ostdlai==2F HIUAIHE 23 7,800
-2EAE 5,000,000 5,000
-IHHIA 250, 0002 »27K 500
-2 At 250,000& =44 1,000
-& Xt 300, 000& 1K 300
- XH(Z Ol A 30,0002 =104 300
-0 700,000 «1CH 700
HeeTIPRZRAAY (BX) 85,684 66,488 19,196
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SN 24D
HM: =222y Y JNABAMELSH (sSHL A /HL A - HE)
S HASE 2Y U AM AN FY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
< 25,573
Al 60,111
101 2121 d| 85,684 66,488 19,196
= 25,573
Al 60,111
04 JIZtHI22XNSE S 85,684 66,488 19,196
Odf==2& AHIAXRI 2l2H| 65,758
-HAf,|xE 77,0003 x4 H 61«2l A 37,576
& 11,229
Al 26,347
-2 I 3tX 77,0003 *3H 61 *x2JH A 28,182
o= 8,422
Al 19,760
Oof4==22 Q18 PXRA OAHH|(XI|ME)
77,0003 *3H 242 «2JHf A 11,088
= 3,313
Al 7,775
O4HEE J1a8e2 76,846,000 x11.5% 8,838
= 2,609
Al 6,229
HESE AYTEIHY TA(RX) 35,390 0 35,390
< 10,590
Al 24,800
201 LBt | 8,540 0 8,540
= 2,555
Al 5,985
01 AP 22| d| 8,540 0 8,540
O6. Xtz 8,540
“HASH AYRE PEM YR
70,0003 x 1= 61U %20l A 8,540
o= 2,555
Al 5,985
206 24 18,850 0 18,850
= 5,641
Al 13,209
01 X2 8| 18,850 0 18,850
Odl==22& oy X M F 15,650,000& 15,650
& 4,683
Al 10,967
OR& D] 200,000 ~16CH 3,200
= 958
Al 2,242
405 XHoHFE S HI 8,000 0 8,000
= 2,394
Al 5,606
01 XAt E B F S| 8,000 0 8,000
Odl==22& 21" ZH| 8,000
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2N
X ZH -
L= B

el

SPUYD
HESTRY U NABHBLSH(SYHL LM /HY 24 - 0f
HEBH 2y L AW 4K 4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
- & H AN SO 4,000, 000& =2CH 8,000
= 2,394
Al 5,606
oHltel = HIOASLESHIULENR(EX) 10,600 11,000 AN 400
o= 3,300
Al 7,300
206 M = dl 10,600 11,000 A 400
=} 3,300
Al 7,300
01 X2 4| 10,600 11,000 A 400
Odltel=AHI2E & S2HX XA
2,650,000 404 & 10,600
o 3,300
Al 7,300
AN AU (sEHLFi/=Y - =) 6,098,488 4,491,365 1,607,123
= 177,114
N 1,870,000
J| 18,946
& 363,205
Al 3,669,223
LesAAES MAXRA 538,292 556,801 A 18,509
= 175,414
J| 18,946
= 29,705
Al 314,227
sHAS K& 131,554 133, 386 A 1,832
201 et 6,834 7,586 ANT5H2
01 AP 2t 2] d| 5,496 5,356 140
O1.Bt==H| 3,480
“SIASKAAYEE Lo+ BY)
1,800,000 1,800
“SXNHSHAZY MAS R0
B0 4= x3, 50000 x23] 1,680
O5.2&4| 2,016
~E=F U FAXILX B4
7,000 x3H x8L x12& 2,016
02 Z2=2=24%4| 1,338 2,230 N\ 892
O1.2Z22=22L Al 1,338
-SANOISAEANZN HEHEEA RER
= 1,338
Bt T 300 *30021 x23] 180
sSo|H 1,930 3004 *23] 1,158
202 044l 1,620 2,700 A 1,080
01 2L Y| 1,620 2,700 A 1,080
OsXOI2AEBIEA RF=E 04|
60,000 *3% 32 33| 1,620
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2N
X ZH -
L= B

el

SR
SolEMY Yo (sHHY
SAaEAS MUK

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 1,000 1,000 0
01 =4l 1,000 1,000 0
Os2228)| ¥ 5X2 23278 257
(EXIA S) 1,000, 000& 1,000
402 RI2EX=20l A 122,100 122,100 0
01 RIZEAI 2 M E X 122,100 122,100 0
OSLH MAXNSD H =5 SSLHH =
=3 122,100
-& 2 Ml 70,000& *1,110ha 77,700
-& = 40,000& *1,110ha 44,400
HERIEXNIA(EBX) 122,800 48,000 74,800
< 17,867
Al 104,933
402 2I2H X201 M 122,800 48,000 74,800
< 17,867
Al 104,933
01 It AL E X 122,800 48,000 74,800
OUESRSE NEXN
10,000, 000 *7JH 260/ 100 42,000
< 1,707
Al 40,293
OHEg=s=3% sZ4HMaM X 77,500
-UE 10,000,000 *7JH 2~ *50/100 35,000
< 7,000
Al 28,000
-8 1,700, 000& *507H 2«50/ 100 42,500
< 8,500
Al 34,000
OH SRMHE XA 550& x10, 00091 60/ 100 3,300
< 660
Al 2,640
EYNHSNBS(2X) 250,592 325,869 AT5,277
= 175,414
< 7,518
Al 67,660
402 RI2HXt20l ™ 250,592 325,869 ANT5,277
= 175,414
= 7,518
Al 67,660
01 B2t t= AP E £ 250,592 325,869 NT5,277
OEMSH (&, A3)B2
250,592,000& 14 250,592
= 175,414
< 7,518
Al 67,660
S NERESPEICES 18,946 18,946 0
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2N
X ZH -
L= B

el

SPUYD
SUAMW LS (SUHRL2M/5Y - 5&)
SASHS MM

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| 18,946
101 144 dl 17,138 17,137 1
| 17,138
4 D12t ZE2XREES 17,138 17,137 1
OsXols2el 17,138
] 56,300 13 x21 15,370
| 15,370
40 D2 EEREZ 15,370,000 *11.5% 1,768
J| 1,768
202 oidl 1,808 1,809 A
| 1,808
01 = LH YI 1,808 1,809 A
OsXolgacg® 8ol 1,808,000 1,808
| 1,808
s BH XN (EX) 14,400 24,000 A9,600
= 4,320
Al 10,080
402 RI2EX=0| M 14,400 24,000 A9,600
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< 80,988
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30,000,000& » 14! 30,000
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= 0 W
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OXEAE 22| 24,000,000& x 14! 24,000
= 20,812
& 2,734
Al 454
03 Al&E 201 Y| 1,209 1,007 202
O ALY AIE20UH]|
335,561,000 «0.72/100%50%< & 2> 1,209
402 BI2H X201 M 25,860 8,620 17,240
= 20,118
o= 1,722
Al 4,020
01 QIZEXIE2AIE 2 X 25,860 8,620 17,240
OEE4 828X X& 25,860,000 = 1A! 25,860
= 20,118
& 1,722
Al 4,020
AT AUAZZLHRIA(BX) 3,120 3,120 0
& 936
Al 2,184
101 2124 H] 3,120 3,120 0
& 936
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04 JI2ZtHIZ22NEE S 3,120 3,120 0
O a2 @LEHESE oA 3,120
-0l 24| 2,798,000& 2,798
& 936
Al 1,862
-AE2E J|28e= 2,798,000& *11.5% 322
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202 oddl 1,440 2,700 A 1,260
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Oxg & FEZJSAY FA0H
60,000 *4H »32 23] 1,440
206 M= Hl 21,400 20,400 1,000
01 =8l 21,400 20,400 1,000
OJtzstetE 22 A 7 13,500
-2F === 40,000& x100 4,000
-XEE 20,000& »50m* 1,000
-2& = EHl 10,000& 200 2,000
-XI == 10,000& » 150 = 1,500
-RYUE(WEI| ¢ S)
10,000& »10& =504 5,000
OJtzzstet & =8 ESol 2 =M 2 3,900
- = 5,000& =100 33| 1,500
—& 2 A 8,000& «100& 33| 2,400
O=2&H¥ AlNg 223857 ,858) 7
2,000& 2,000 4,000
401 Al HI R 201 I 421,512 356,278 65,234
01 A& HI 420,000 355,000 65,000
OE=zY dM=ttel 8F 10,000, 000& »24! 20,000
O&=Llol= MIAHA 250,000,000& 14 250,000
OZ2H stk sXZcl(dlx, =83, &
g) 50,000,000& =14 50,000
OgYot HIEEZ2 ZZAE 22 (ZCl22, ¥
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M s) 23,000,000 x 14! 23,000
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Al 16,100
MEESEMH 2,599,545 2,397,362 202,183
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